Algebra Honors
Summer Math Packet

The purpose of this summer work is to help prepare you for your upcoming
Algebra 1 Honors math class. The work will tap into your prior knowledge and
review past content, concepts and skills. Our expectation is that you arrive
on the first day of school able to demonstrate mastery of the material in this
packet. In order to achieve this, please allow yourself plenty of time to work
on the problems. Use your resources such as Khan Academy, Math Nation or
another math site of your choice. This work will be due by Friday, August
28th, 2020, and collected by your math teacher. A bonus coupon of 10%, to
be added onto any first quarter quiz or test grade, will be awarded to those
students who complete the packet over the summer months and return it upon
the specified due date. Completion of this review packet is required for all
students taking Honors Algebra. If you choose not to complete the packet
during the summer, you will still be required to complete it by Friday,
September 4th,2020, keeping in mind that you will also be responsible for
completing your daily Algebra homework assigned by your teacher. Please be
aware that there will be a diagnostic post-test administered to all Algebra
Honors students on or around Friday, September 11th, 2020, that will assess
your proficiency of the concepts covered in the summer packet.

All pages of the packet should be completed without the use of a calculator
and with all work neatly shown. Each problem should not take you too long to
answer as they are concepts that you should have mastered by the end of
seventh grade.

Student Name:

2019-2020 Math Teacher:
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Simplify. Use order of operations,
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Use the distributive property to write an equivalent expression.

25, 5(5+c]-—--___.__________ 26.-8(y + 2) 27. (m + - N
28.~3(2a + 5) —_—  29.4(y+ 32 3. (22 + b
Factor and check by multiplying,

31 9y + 21 32.14a+355 __ ~ B+ Uy 4122
34. 7m+42n-____.__________ 35 10c + ¢ — 36 9+ 212
37. Sa+6b+10c._______ S&IOx+ZSy+30_____ 39, 36 + 723 + 4¢

Collect like terms,

40. 17¢ + 6¢ 4L 3y + 7x + 5y

42, 3a3‘+16+9a+2a_’ : 43. 5m+ 11n + 1im + $n
3 2 3 7

44.3-2+-5-z+4z+9 45.~1—u-y+2y+7y+m—y

Write as an algebraic expression.

1. 7 less than 4 times 3 number | 2. 11 more than half a number

3. 6less than twicery 4 the sum of friple 7 and Falf of x

5. 5 more than the product of 4 andy g, 1 /2 the difference of & mamber and 15
7. double the sum of x and 5 8. 4 less than the quotient of x and -5

_.-..-_—.._.._.-_-.—..__—.—-...'-._.._ -_-__..—.._-__.-.-_.-—_-—.-.-.-...-—-

Translate to an equation and solve,
9. A number increased by 36 is 15. Find the number,

10. A nunmiber decreased by 83 is 46. Find the number,

11. Rico delivered 292 newspapers this week. This was 17 more than last week. How
many newspapers did he deliver Jast week? o

12. Nancy bought 3 box of 12 brackets for $11.52, What was the cost of a single bracket?

13. Shauna bought a skirt on sale for $28. That is 80% of the regular price. What is
the regular price? _
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Write as a decimal, @pff‘””i? ALL

BISR—— 2130 3005y 4 165 5 24

Express as a percent.

6} o R % e i
Solve,

. 11. What percent of 65 is 407 12. What number j5 8% of 2507
13. What is 120% of s07 14, Whtperecntorsoisllz?

Find the absoluta valus,
18, [4{-__._____ 16 ]—I.?[.._._.__ 17, [Ol—..______ 18 |—8]_______

9. (=52 2 oy W9t ;jesm_

Extra Practice

Use a proportion or an equation to solve,

1. 60% of 185 2. 5% of 80 3. 4% of 55
Use a proportion. or an equation to solve. )

4. What percent of 90 js 277 5. 63 is what percent of 1057

6. What percent of 160 is 1207 7. 9 out of 36 is what percent?
Use a proportion or an equation to solve. Round to the nearest tenth,

8. 14 is 7% of what number? 9. 40% of what number s 357
10. 15% of what number is 457 11. 22 is 25% of what number?

Solve by writing an equation.

13. When Juanita was on vacation it rained 35% of the days. She was on
vacation for 20 days. How many days did it rain?

Find the discount and sale price for each.

/4. Regular price = $45 /5. Regular price = $2 450
Discount = 40% Discount = 69
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Simplifying and Evaluating OF*“’““L ALL
- Stmpllfy

1) B6x+2(3x—1) = 2) 18- (4x—12)=
3.) Sy +3x—13y+ 5x = 4.) 5(2x—8)~ 14 =

5.) 6(4x—9)+5(3x + 11) =

6.) 18a—(a—-12)+ (2a—-1)=

7.) 24 +12(5x-2) - 3(8x + 10) =

8.) 26y —4) - (4y + 8)+y=

9.) 5a+6(a+3b-4)-10(4a-2b) +21 =

10.) 9x + 3y ~4(x - 7) + 2(5y - 8) - (6x + 11y) =

Evaluate for +he given valyes.

\\
xa _ 7 8% _ .
: - . G VALUES OF T
¢ }}: e ~ VAH!ABLESHE
2 ) *f, 2 2 =1
@2 - ), @xite.
(2a) _ A y*-a? _
@ &r .?-( e =
A
® @a) _ 7 @
2a :}‘-\ Z
t';zy2 _ " . —'462
@ z "& c+b
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Solve each equation. Show all steps.

1. 3x-7=x-9 2, 10-8z=-2-4 3. 2y+7="5y-8
4. 2Bx+1)=9x-1 5. 2a+(5a-13) =47 6. 3y +7)=2(y +9)
7. 3m-5)+1=2m+1)-9 8. 2y-12 _ o5

. 4
9. 19-(2x +3) =2(x +3) +x 10. 62=§+51
11, 5x-2(x-1)=2(2x- 1) | 12 dr-4(-4)+1=37

Solve by clearing fractions.

4 4 4 1 11
13) 9-=Ju-3]=1 V. A (T -
5 A st L
- 2 9 vy 3 2 2
15) 1-=9==2-L,42 = = ey
3 5 5 5 '6.) 3+3y 24 15

Solve by clearing decimals.

17.) 0.13y-4.1=0.3y~-1.7-0.41y 18) 0.7n-15+n=12+1.5n-9.2
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Finding Area of Plane Figures
¢ Ffl‘“U*—L: A L

Find the area of each figure.

1. = il _ 2, ] ‘ 4

SP6

g8 cm
8 12 cm
| 35 mm
4.5 cm o

4- : t 5- T [ 5-'
g B 3.5¢m .
:6cm 1.4cm |
B = T A

15 em " - 25cm

Find the circumference and the area of each circle. '

. Choose mental math, paper and pencil, or a '
calculafor. Use 3.14 for m. Round to the nearest hundredth. ’

| . 2‘
C = G & i B C=
Find the area of each frapezoid,
i 12m be iz :
5 T 10in. 61t
. 3
oi / . i
8m 6in. 2% T

8in.
Find the:area of sach shaded region. Round to the nearest hundredith. '
2, ___4em

4

7 10 cm
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Rewriting Formulas

Write an expression for each of the following.

1. An adult’s ticket costs $1.75 more than a Z There are 114 more boys than girls
child’s ticket. Write an expression for the in the sophomore class. Write an
total cost of three adults’ tickets and five expression for the total number of
children’s tickets. . sophomore students.

3. The sum of three¢ consecutive ipteg&s 4. The sum of an integer and half of the

nest integer.
Solve.
5. The sum of three consecutive integers is 84. What are
. the integers?

" 6. The sum of three consecutive odd integers is 159,

Find the integ-tm

7. A 35-ft board is cut into three pieces. The second
piece is twice as long as the first, The third is twice as

long as the second. How long is each piece?

% Solve for the given variable.
9t A = 2‘bc' fDI' c

8. A = 2bc, for b

11. Ru%, for ¢

10. R=§,fors

13. W=3y+3zforz

12 W =3y + 3z, for y

1"1’) A = a7, for r? : Jﬁa A=arforw

) A= 31bh forb. 1) A = 2h, for b

u‘:) E = mc?, for m %) E = mc?, for c*
"‘za)A=Lf'-—-§—":—E,forb al A=a+§+c,forc

3k
£Z)H=T, for ¢ . P=g§—’,fﬂrc
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* opfional s ALt | spg
Classify each number as: Real, Ratfonal, Irrational, Whole, Natural, Integer B
1) -15 2) 11
3) V30 iy 22

3
5) 6 6) 0
7 -13 8) 3
10) 14
9) 2 )
11
11) -13 12) T
475 14) /77
13) —
325
15 8 16) Vo
7
17) —V196 18) -1
-16 135

19) — 20) -y
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Solve.
1.) -3x<18 2) Sx=7x+6 3.) 5-2x=-16
4) 24>7y-11 5) 2(3a-5)>2a+6

6.) -3(dy—6)s7 -y

8) 9x—2x214—9(x—4)

Scientific Notation.

Write using standard notation.

7.) 10(x +2) > -2(6 — 9x)

9.) 2(8x—6)—7x <12 + 5x

41, 2.001 x 1072

40. 6.781 x 10°

42,761 x 1073

. 43. 3.114 x 10°

Write using scientific notation.

44. 6,821,000

45. 0.310001

46. 0.00000671

47. 2631




31, (—24%)(34%
Divide.

xio

34.

x4

5
37, 1=

Ix?

32 (x%y")(xy?)
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Simplify. Express using positive exponents,
1. 51052 2105 3, 42.45.47
4. n-n’ 5 a*va*-a 6. (7x2y%)(xy)
% ‘::f &'% 9. g—g:-
Express using positive exponents.
10. 6°° 11. x—1 12 3y~2
13. m~* 14, Ty~! 15. (5a)~!
16. 1% 17. x° 18, 6y-3
* Simplify.
19. (204 20, (—3x3)° 21. (a%b7¢)8
22. (3ab?)* 23, (—4a?)? 24, (Tx2y3z)?
25, (i‘-;)z 2. (“;)‘ 2. (-5-;-,-)2
Multiply. '
28. (3m?)5 29. (16y°K-7) 30. (—3x%)(x?)

33. (2ab)(S5ab)
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L (4x? + 3x — 9) + (—9x + 10)
2(O9x*+5x3 -+ (3x*+3)
L (2 +5x = Tx =)+ (=Tx*=3x2 + 7x + 5)

4 (14x¥ = 4x? —3) + (9x% + 6x ~2)
5 3x*—=6)—(x*+ 1)

6 (5a* —Ta+ 1) = (2a* + 3a—6)

7. 3min + mn =5 —(2m*n —m+9)

& (I1x%y + 6xy — y* + 6) — (4x? + 3y2 —9)

9. (4¢3 + 82 — ¢ + 21) — (323 — 10¢)

. Sf'm?“ﬁ- Wit using posfive xponents, :
3 (4 4)" |

)y D8y
By X 5 2l ST
x'? :
AT Eveluak..

) —y35 2) 439+0

3) {728 9 AF Ao
5) 5410 +2A%00 ___ &) 4AET -Ar§
7 (7" 5 (V)"

1) '[_’Z?E_ 107) ,/}%__T




RL?/UU‘:rLL‘- ENENS
op ol ALL- SP12

Graphing on the Coordinate Plane
*For the following points, tell the location on the coordinate plane.
QI = Quadrant 1; QIT = Quadrant 2: QITI = Quadrant 3: QIV = Quadrant 4
: Other choices: Origin; X axis; Y axis

1 (2, -4) 208 37

4) (-12,-3) 500 ___ 6) (-5,0)

*Make a table of solutions for the following linear equations, Use -2, -1, 0, 1, 2 for
X values. Then graph the solutions on the coordinate plane and create a line.

7) y = 3x 8) y = 2x+5

h 4

r
k 7

2

9) y=5x-~-1 10) é6x+2y = -8
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Perform the indicated operation, Leave answers in reduced form.

L og= 2 o=

5, el o b

% A 8 4i-(-D=
9. 2.2= 10. 32+ (-8) =

{1. Before soccer practice, your water bottle is Z fuI] After practice itis 2 fu]l. How much
water did you drink during practice? ’





